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TEIBEIEH ERRR()

A LRBRR RS R RE B R AT I R BL, TR AR RLER & B R AT 1 R RL
B. B R R — € R REL, JE B R R — & R MR/ B2 1 R RE
C. 3G BLSCR i R B — R R R R L

D. kB KR BAEAE %A FEARGE R AE

2. EFEB
REB AR M B CHA (g) +4F2 (g) =CF4 (g) +4HF (g) KIRFHMAHA ()

124 C—HC—FH—FF—F

RS/ (k'mol-1) 414 489 565 155

A. -485 kJ'mol-1 B. +485 kJ'mol-1 C. +1940 kJ'mol-1 D. -1940 kJ 'mol-1

3. IEHEM
E—CRETHEARAFSRT, ATAXGERERER, RERM: A()+2B(g) — CeDEEEFIFERENI SR
A RESRERER B IBRASEHEE

C. SRR YRR D. BALE IE] P9 A fin mol CHY R B I #62n molB

4. B
R T 10mL pH=3 M EERRIEB N KFREG, THIVEIERIZ
A R SR TR E W, TR

B. BRI B A2 K, c(HH)TRHKR

C. BN 10mL pH=11 NaOH¥W, B&WipH=7

D. % Hc(CH3COO0-)/[c(CH3COOH)-c(OH-)| R 38

5.
BRR—MEEE, EREERMRCHS, %R H0.5molCHA5E & #RBa A BRCO2FK I { gttt 445k)
A, WTFR RN P ERK R

A. 2CH4(g)+402(g)=2C02(g)*+4H20(g) AH=£890k]-mol-

B. CH4(g)+202(g)= CO2(g)+2H20(g)AH=+445k] -mol-

C. CH4(g)+202(g)= CO2(g)+2H20(}) AF=-890k]-mol-

D. 2CH4(g)+402(g)=2CO2(g)+4H20(1) AH=4890k]-mol-

6. I
HIRT, BAKsp(AgC)>Ksp( AEBr), IIGACIHHALBIMAMBE RS AR S, FIMANRRIRANOIEM, TIHE RYWESIEFKR:
A. RFEKsp(AgCH>Kspl AgBr), ] HIAgCIHI VA iR Ak /1 HEAgBrig

B. MIARERANONEHG, AgCIFIAgBefIYEEFKspHAZE

C. IMAEEIRANOIEHE, B RA ABriiiE

D. TE&H AgBr\AGCIE 4 FI BB A, ¢ (Cl-)>c (Br—)

7. R
110 mL pH= 120 FERBBFIANL0 nil pH=2113588, 784 KPUEHABBORE, BRTO, WHE—EL:
A» —JUHER B. £ JCHEBL C. §9HK D. ALIT3EH

8!
FER—MEEMNKTER, TENATATAR, Wil EERERE. S50:
CH30H(l)+02(g)===CO(g)+2H20(g) AH1 = —443.64kJ/mol
2C0(g)+02(g)===2C02(g) AH2=—566.0k]/mol
TSR T R X IER I 2

A. COMIBRBL# A — 566.0kJ/mol

B. 2 mol COF1 mol O2f) & f& & Hi2 mol CO2M B BE R AK

C. EAMPE32 ¢ FlE, AR ZEABRA/KZES I B FRE 908.3k)

D. 2CH30H(I)+302(g)===2C02(g)+4H20(g) AH=—1453.28kJ/mol

9. IR
2.0 molPCBANL.0 molCRF N AR B BERH, E—EFMHTRETRRMN:

PCI3(g)+ CI2(g) === PCI5(g)ik B FH#RY, PCISH0.40 mol, IR ILES #7E 1.0 molPCI3HI0.50 molC12, 7EAH [FIELAE T Fik Pt PCISHIY) R &2
A. 0.40 mol B. /AF0.20 mol C. 0.20 mol D. XF0.20 mol, /NF0.40 mol

10. EFEM
T R VS VB T F77E BB B P CH3COOH == H++CH3CO00-, T FIAURR IE# 2
A ARRE, FHEERB), BEERIHREEHKaEHK

B. 0.10moVLICH3COOH K /K ¥k, ¥+ c(OH- K

C. CH3COOH i H /> B HICH3COONaE 1k, P43 a1 %3




